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IMSTHUCTIGNS TO CANDIDATES

Read the following instructions carefully before you
answer the questions. Answers should be marked in
the OMR Answer Sheet using black ball point pen.

Caeauisemss e :ﬂ'qrﬂ ELEmT &6IT
alernssgrée o waliuspe wany £Cp
ClarRssUuL Hersr Jrgﬂn,rmmmma FURTONSLI
uq,gg e smear spLy Bp @w Cersm
LB gIgpenenL Cuenmalarre) OMR afaL&snafls)
Eflssayo,
1. This booklet consists of 100 questions for four | 1. Qs lamrsgra iy aaleanms urLsdnen
subjects with 25 questions in each subject. 25 elleméas cligib, Breng LTLkisignigh Gotdg)

1-25 Mathematics Quorgsn 100 cflenrésmend Quran@daers,
26-50 Science 1-25 seufigio
51-75 Social Science 26-50  gyflellwed
76-100  Mental Ability Test 51-75  seps siflellwey
76100 wensHpen Csiay

Each question carries one mark. 2. gabam allanredlhEb g ALCLGT puEEE
Gl Gdmans,.

Since the time allotted to the Question Paper isvery | 3. dilenmssienéE oodaliu g méen Crrb Maab

limited, you should make the best use of it by not Gnélusns Gmiusne oS g eblemrablhgid s

spending too much time on any question. Siflsoren Corgens Qraaféa Cauammb.

if you do not know the answer to any question, do | 4. ;,—;{,;;,@“'g elilemmefl s el anl -;?]g}mmmﬂu.._n;b,

not spend much time on it and pass on to the next ANEDETE Sifls Corbans ﬂa-a.;.@ﬁ‘lu@_ (&S

one. If time permits, try the questions which you eillgmmahl B eflent_wafissayd. Cpro den Lnfdn,

have left in the first instance. L L cllemmaiig eblonwiaflés wpuinéiiseyb,

Blank pages are provided for rough work atthe endof | 5. alflppenpad delgurids Qaonssri ser

the Question Booklet. (Blank pages) eflarrgGgrsldlear Gnduda
Elenamda L [Rerarer

Choose the correct answer from the options given for | 6. gpelieleur(y eflenrellieib Qamiasi L Herar oy

each question and darken the correspanding circle el saficllmhg Wss sfluren eflen 1l emens

with black ball point pen in the OMR Answer Sheet. sar_fibg, @5 OMR afle Lasratd o flu
wlLgdla smuy Bp ew Qsrer. ug
wpearl Guerrellanme) 5. Geuar(in,

Handover the OMR Answer Sheet to the Invigilator | 7. OMR Eﬁﬂ._,'_j@mﬁmr S ST S rant| LI imemTiL b

and the candidates are allowed to take the Question guUeL 55, dlmribsrsldeman wrarairsd

Booklet with them. BIBIE(ETHLE &T () &E & tledevaumd,
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MATHEMATICS / senflg b

1. The sum of the digits of the denominator in

; 161
the simplest [ F— i
plest form o ?#213

1) 6 ) 3

@ 7 (4) 4

(1) % @1

@ -1 4) -

| M

3.  Statement (i) :

number,
! Statement (ii) :

\ The cube of every odd number is even

| If a natural number ends with the digit 3 or
| 7, its cube ends with the digit 7 or 3
| respectively.
,r (1) Both the Statements are true.

| (2) Statement (i) is true and (ii) is false.
; : ,@ Statement (i) is false and (ii) is true.
(4) Both the Statements are false.

4.  Which of the following is true ?

(1) 3°4+3=3 @ 3'x

o @wrr-e @ (-3

IX-24

% -Gen erefin eugeiley e crer
v@gSllen Qassmsaien smfse :
(1) o (2) 5
@) 7 ) 4
S . (3_2)_
ET[E 3_J
3

(1) 3 2 1

2
3) -1 (4) T3
Sapmy (i) :

e Gart @DeplueL  eremenfien
semorengl @yl ent ILent_ eTelTam &,
Samm) (ii) :

@i Qe eramemreng 3 sidag 7- @
WPYHSTE, MGen sanorans wenGu
7 Sjewag 3 -Gle (Lpig L.

(1) Grean( sappisenid s

(2) S=pm (i) &fl wHob (i) Faury.

(3) &aDm (i) seum whmib (ii) &

4) @ren(h smppsEsD s,

\Herameianeunmier ergl M 7

-1 1=
2y 3 XH 1

o G-

P.T.O.

(1) 3°+3=3

(3) (35)7 =33



5. The perimeter of the given figure is | 5. QanRésOulL UL FSlen HppeTey -

10 cm 10 @&.b.
b
5cm @ 5Qg.15,
1 >
(1) 30 ecm ° @ 35 cm (1) 30 @s.b. (2) 35 Ga.b.
(3) 40 em (4) 50 cm (3) 40 Qg.ifb. (4) 50 Q&b
6. 6.
The area of the shaded region of the given ‘O - gneu ENIILTEGYLD ‘a’ BINE 4T APLD
circle with centre ‘0’ and radius ‘a’ units is Qaerer, @ar@ésuulL el L gl
sq. units. Bypdlouc ugdler urdueTea
& SAHS.
2 2 2 2
™a e wa Ta
bulh 00 il ) Fi
(1) 12 _@ 8 () 12 @ 8
2 2 2 2
Ta ma 7a Tra
@ 4 @ = 1 M @ —

7. Number of edges, faces and vertices ina | 7. @@ p&Gareawsi Sy Bigdr ennbgieTer 1\

triangular pyramid are - eflefibser. apsnisa wHOID o Ffseflar |
respectively. craneniisens (penpGu l
@ 6,4, 4 (2) 8,55 1) 644 (2) 8,55 |
(3) 965 4) 4.4,6 (3) 9,65 @) 4,46

8. The arc length of the sector whose areais | 8. 11 @&.8 syroperer el L &Camemril

154 cm? and its radius 11 emis . ugHulen uriiuere) 154 G&.b* erafla,
efcbellen Hamd :

(1) 77 cm (2) 44cm (1) 77 Q&b (2) 44 Qs.b

(3)) 28 cm (4) 32cm (3) 28 Gs.1b 4) 32 Q&8

IX-24 4



9.

10.

11.

12.

13.

14.

@ -18

If (a+b)=3 and ab=5, then a*+b% is :

() 18
@) 72 4 =72

If x2—px+28=(x—4)(x—7), then the value
of pis:

1 =3
@ 3

(2) -—11
@
The smallest number of the three consecutive

numbers is (x—2), then the greatest number
i5:

(1) (x+2) (2) (x+1)

3) (x—1) x

The straight line y=>5x always passes

through
(1) (0.5 ) G0
@) ©0 @ 65

The cube root of 6% Fibonacci number is :
(1) 8 (2) o

@2 @) 4

In a triangle ABC, £B=90° then the
Orthocentre of AABC lies on

(1) A

@B

@ C
(4) Hypotenuse

IX-24

10.

s &

12.

13.

14.

(a+b)=3 wHmb ab=>5 erafled, ad+bi=

oy i (2) 18
@) 72 (4) =72

—px+28=(x—4)(x~7) erafldd, p -en
Ay

(1) -3 (2)
@ 3 (4) 11

-11

SiDE50E8 cpenmy eransafla WlassHlu
erar (x—2) erafier, WalQuflw erem
EE—

(1) (x+2) (2) (x+1)

(3 (x-1) 4) =«

y=>5x eranp GpraGarireng sriGunmgih
aulflurss Ceagi.

(1) (0,5) 2) (5.0)
(3) (0,0 4 (5.5

g oreig GuGerrd erevrarfisn sarapaid :
(1) 8 (2) 6
3 2 4) 4

AABC @ «£B=90° erafies, AABC -em
CeiGar() enwwiD eThif® Henwwjd ?

(1) A
(2 B
(3 C
(4) asrawgHlen Og

P.T.O.




15.

16.

17.

AABC ~ APQR in which £ZA=63° and

ZB=57"then ZR is:
@
()

(1) 50°
3) 120°

Which of the following are co-prime
numbers ?

(1) (8 10) 2) (8 12)
@ (8, 15) (@) (8, 18)

If two angles are both congruent and
supplementary, then they are

(1) acute angles

_@ right angles

(3) obtuse angles

(4) all of the above

The least time taken route from A to E is :

@ A-B->C=E

(2) A=B-SD-=SE
(3) A-B-C-sD-SE
(4 A-B—-D-C->SE

IX-24

15.

16.

17.

18.

AABC ~ APQR, £A=63° wpmh £B=57
eraafley, £ZR yemg o

(1)
(3) 120°

50° (2) 60°

(4) 90°

GemeumeuaTeup MG eTenes FTT LIST
GremT&eT ?

(1) (8, 109 (2) (8, 12)
(3) (8 13) (4) (8. 18)

Eim Caremmiser Freusnorsean, Hens

flrudasarean Gmulber e
<2 (LD,

(1) @mkCsremrmsd

(2)

(3)

4) Gunediu =eandgb

(ol & Camenri sar

e A Ga memmmiimer

A-ulell mpg E-d&@ Gede Gophs
siarey Cprsams a(hsse Lard @gb
auflEsL b :

(1) A-B>S>C—E

(2) A—-B—-D-=E

(3
4) A=-B—=D—-C->SE

A=-B-C—oD=E



19.

20.

21.

22,

Match :

(a) Centroid i) Angle bisectors

(b) Orthocentre (ii) Medians

(c) Incentre (iii) Perpendicular
bisectors

(d) Circumcentre (iv) Altitudes

(1) (@), (B)-Gi), (-6v), ([@)-6)
@) (@), (b)-Gv), (-G, (@)-6)
B)) (@), ©-v), (-6, (-G
() (@), (b)), (c)-6i), (d)-iv)

In how many ways can you answer
2 multiple choice questions with the choices
A,BCandD?

a 8 @ 16
@) 32 @) 64

If x% of x=49, then x is :

(1) 60 (2) 50

@' 70 (4) 80

A person bought 8 articles for ¥ 1,000 and
sold each of them at T 120. Then his loss
percentage is

(1 10% (2)

@ 4% (4)

5%
15%

19.

20.

21.

22.

Gl S 56,

(a) pH&Csr_®H (i) Csrer @mewn
ELOWILD Cleuliq.@er

(b) QeaCGarl® (i) bHS
LD GamEser

() oe@TeulL (iil) enwwsE
@LDILILD G

Garfser

(d) &sHmeul L (iv) Glemi@ssns

EnLD LD CerHaer

(1) (@), (b)-(i), (c)-(iv), (d)-{1)
() (a)-(in), (b)-(iv), (c)-{iii), (d)-(i)
(3) (@), (b)-(iv), (c)-(i), (d)-(iii)
(4)  (a)-Gi), (b)-(ii), (c)-(), (d)-(iv)

@ran® ueeer Csfey eflarrssefia
A, B, C wpmb D Qsflese el mbs
sflurar eflen_emws CsinlsHés
crggsenen eligloman eulflser o araren ?

(1) 8 (2) 16

@ 32 4) 64

x-em x% ereniigl 49 erenfled, x eTemLg)
1) 60 2) 50
® 70 (4) 80

gmeui 8 Cum@mlsear T 1,000-&@
curmudl, @eauQearm Gumrmeer L
T 120-&@ elpdiprt erefld, oeui
SDOLHG BLL FHISHD
(1) 10% (2)
(3) 4% (4)

5%
15%

PT.O.



23. Anand can do one-third of a work in 8 days.

th

He can do % of the same work in

days.

(1) 24 (2) 32
@ 18 4) 16

24, The range of first 10 composite numbers is
(1) 17 (2) 186
3y 9 @ 14

25. Monthly expenditure of Sudaroli's family is

given in a pie-chart. If he spends ¥ 12,000
for education, then the total salary of Sudaroli
is

50%
Food

15%

20% Rent

5%
Miscellaneous

10% Savings

(1) T 80,000 2)

(3) T 50,000 (4)) T 60,000

1X-24

23. ahd e Cauamalar wparhlar o

uGHenw B mrisefla apylurt ereafle,

3
Sl 2ibs Causna ullen 1 L & ani
Brigeaflé (pg L.

(1) 24 (2y 32
(3) 18 (4) 16
2. pse 10 u@E oavsefa eiFs
(1) 17 (2) 16
@ 9 @) 14
25. &L Gpraflllar wrss @HLLE Cswey

alL dladsl uLsHd GerBsso
UL @erangl. Sieuit seellésrs T 12,000
Qeawey CQslgrd, seuflar Cwrss

BU(MH LD ENTLD
50%
o GTEY
20% 15%

Sevef AUTLaNS

5% @ar 10% Gadliy

Gleweysar
(1) T 80,000 (2) T 75,000
(3) ¥ 50,000 (4) % 60,000



26.

27.

28.

29.

SCIENCE / gjnfleSlwied

Which of the following temperatures indicate
that you have fever ?

(1) 100°C (2)) 100°F

(3) 100 K (4) Al the above

Which of the following liquids has more
viscosity 7

®
(2)

(3) Coconut oil

CGrease

Water
(4) Ghee

Kaleidoscope works on the principle of

(1) Regular reflection
(2) Irregular reflection

(3) Refraction of light

Multiple reflection of light

Energy required to raise the temperature of
water in a trough to 1 K is 1000 JK— 1.
Calculate the amount of energy required to

raise its temperature by 10 K :
(1) 100] (2) 10]

(3) 1K (4)) 10K

IX-24

26.

27.

28.

29,

Epssam Qaiufloasdis e BsEHHE
griLssd edrarg aruemg &HwWTE
@Pudeag gl ?
(1) 100°C  (2) 100°F

(3) 100 K (4) QBereu @ETSHID

Epssrgnh SraksEnd ag s
urgflene eenLwig ?

L
(2) B
(3) Gamsmis ererlewri

(4) Gmu

saneLreniam &Gl 6u S| 6
@y e ufe GauauiBEpg.

1) qupisrer eGrrefiiy

@ ewhspp ad@rrefioy

(3) qef closd

4) el uerwps erfGyrafliy

fher Quuuflewewu 1 K 2wiss
1000 JK~! Qeutiuh GgemeuliuBHDS.
aisen Gaitiuflewau 10 K ewfss
Gaeneuwiren Geulil ZpHHE :

(1) 100 (2) 107

(3) 1K 4) 10K

P.T.0.




30.

31.

32.

You are rubbing a glass rod with silk and
your friend is rubbing an ebonite rod with
fur. When you bring those rods nearer, what
will happen ?

(1) repel

©

(3)

attract

sometimes attract and sometimes repel

(4) neither attract nor repel

A sound has a frequency of 10 Hz and a
wavelength of 7 m. What is the speed of the
sound ?

(1) 700 ms—!

@ moe

(3) 70x10-2 ms~?

(4) 700%1072 ms—!

When gold is suspended in an external
magnetic field, it will ;

@

(2) align parallel to the direction of the field

align perpendicular to the direction of
the field

(3)  does not respond to the field

(4) gets magnetized in the direction of the

field

IX-24
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30.

31.

32.

G SaTETTIyS Hewrenl UL ([Bsewflwime
Cowisdlpmis. o ang martuen erGumeneant.
gamenL sbueiwurd Gzulsdpren.
Bran® s ®saeruyb <= & Cs
Qarer® eumbGurg ererar Hapn ?

(1) eflevsewenuyb
(2) s

3) feCprisefe misdmn &Hao

Crriuseis aflawswen b

(4) ridaGeur,
Glewiwims

el e auGgr

@ @l 10 Clapm e ydiQeuanr whmb
7 8 simefard Qsrar Darerg. SUHS
geilullen Gausth ereimam 2

(1) 700 ms—1

(2) 70ms-1

(3) 70x10-2 ms~!

(4) 700x10-2 ms—1

susiens  Frran
Lsrisseil@ui Curg :

&THS L e H e

(1) vesgda Sdossg Cosngssrs
lCT

@) yasdlen Smsss Qeoerurs
fhe

(3)  yeggre undlésiucng

4) srhslywsder Hens i é

S H&L0TE DS



33.

35.

The aim of launching Chandrayaan - 2 was

to explore the pole of the Moon.
(1) North (2) south
(3) East (4) West
Find the incorrect pair.
Compounds Constituent
Elements
(1) Water - Hydrogen, Oxygen
(2) Nitricacid - Hydrogen, Nitrogen,
Oxygen
@ Sulphuric -  Hydrogen, Chlorine,
acid Oxygen
(4) Aceticacid - Carbon, Hydrogen,
(Vinegar) Oxygen

Which one of the following contains a high
level of polyunsaturated fatty acid ?

(1)) Fishes and meat

(2) Egg and milk

(3) Vegetables and fruits

(4) Cereals and pulses

1X-24

33.

34.

35.

shdlrrwen-2  Hleellen

Smeall uGgdew e Dsluas
Crréswnss Caneir g).
(1) aLss ) Gspe
(3) dpse @) Cuope

seaupren @lenemeniis Senr(Hldg Ssab.

Gemon B G0N HATTEH

(1) G - enaml e,
séigan

(2) emplifls - GnEL_IT e,
flanib BT ReN,

(3) &Bss sblen -  mapl e,
@ Germilam,
2y hélgen

(4) Flgs - &ITITLIeT,

Syl et QDL [Tme,

(eflefl &) 2, &§lmen

Gemaumeuanaupmen ULy Hevpeaymr
Qarpuy suflewn aeaubblda = sb
srarLHEDs ?

(1) Benger whmn Genpas

(2) oplevl wWHmID LiTed

(3) smusHlsaT WHOID LILPHEISET

(4) sreflumsd wHMD L(HUL ST

P.T.O.



36.

37.

®

38.

39.

I1X-24

Complete the following equation :

Energy from the sun

3
e

6CO, + 6H,0
+ 60,

(1)
(3)

CaHp0yy
C,H,O0H

@ CEHI E'.DEI

(4) CH;-O-CH;

An atom has 7 electrons in its outermost orbit.
For obtaining stable electronic configuration,
it has to

gain one electron

lose one electron

(2)
(3)

neither lose nor gain electron

(4) None of the above

Usha had heavy dinner and she felt
uncomfortable. So her grandpa advised her
to drink a small amount of Oma water. If
she drinks Oma water what will happen ?

(1)
(2)
(3)
(4)

Digestion will be faster.

Digestion will slow down.
Irritation will be there in stomach.
Nothing will happen.

Which of the following chemical can be
applied for wasp bite ?

(1) sodium hydroxide
(2)
(3)
(4)

sodium acetate
vinegar

potassium hydroxide

12

36.

37.

38.

39.

EpssanL sweaur_enL fleopeys Clals.

6CO, + 6H,0
@ flwed sl G mliiuifin o .
+ 602
(1) CyaHy0y, (2)  CeH 04
(3) C,H,OH (4) CH,-0-CH,

@i igmieureng sen CleuaflliLmé smiiged

7 eravEl_renssnend ClEramr(DeTers). i)

Plerags eravdi_ymen yenwlienuis Gum :

(1) &F TLELITena ¢DEL

(2) @ sl rrenen GLpEELD

(3) ered rraen @Gpssad Glalwurg,
ghsab Calwurg

(4) Copsplu gfdeane

o agm eremLieu @rey HomeemigullenGumg)
=il & men 26T &n 6u T HE &S
QararLsrd Csarsfluwwrs e arib
ST, Djeurs srésm sjeueny Hiflseney gu
feny Lmass Cerenenmi. et @By
LmSlenméd eremen Hlsp ?

(1)
(2)
(3)
(4)

Qefliorand HMsOLEES0LGHD
Gsflorend groglu@ssluEin
Eerueuuiie erflFsd ghuiD
genpud Blaprg)

Gerell Asrlgemred Epsam rHs
CeudlGunmmener LwaruRSHECDTD ?

(1)
(2)
(3)
(4)

Cemgwib erapgrréens[H
Gamguwid &G
eilaflsm

QumiLrflubd eapirréEas([H



40.

(a) Lignite
(b) Sub-bituminous (if)

() Bituminous
{d) Anthracite

41.

42,

43,

Match the following :
(i) 45 - B6% carbon

BH - 979% carbon

(iif) 25 - 35% carbon
{iv) 35 - 44% carbon

(a)-(idi). (b)-(iv), (c)-(1), (d)-(ii)
(a)-(iit), (b)-(1), ()-{iv), (d)}-{ii)
(@)-(1), (b)-(iv), (c)-(ii), (d)-(iid)
(@)-(iv), (b)-{iii), (c)-(ii), (d)-()

C
(2)
(3)
(4)

The future fuel which has the highest energy
and does not pollute air is

(1) Coal pas
(2) Methane gas
3)

Q)

Producer gas
Hydrogen gas

+ Which of the following disease is not caused

by fungus 7

(1) Dandruff

(2) Ringworm
(3) Athlete's foot

Tuberculosis

During inhalation :
@ Volume of thoracic cavity increases and
pressure decreases
(2)  Volume of thoracic cavity decreases and
pressure increases
Both volume and pressure of thoracic
cavity increases

(3)

(4) Both volume and pressure of thoracic

cavity decreases

I1X-24

40.
(a)
(b)

(c)
(d)

41.

42.

43.

13

Curmsgis.

eOldenant_ (i) 45 - 86% &mirLien
Hien e (i) B6 - 97% SmTLIGH
G Bleren

G pblewany (1) 25 - 35% &miLe
BSTas  (iv) 35 - M% ST
(1) (a)-(ini), (b)-(iv), (c)-(i). (d)-(ii)

(2)  (a)-(iid), (b)-(i), (c)-(iv), (d)-{ii)

(3)  (a)-(i), (b)-(iv), (c)-(ii), (d)-(iii)

(4)  (a)-(iv), (b)-(ii), (c)-(ii), (d)-(1)

&rphenn WI&ULUBSSTE HE B DDNS
sreucey erdlisra erflG@ummer ;

(1) &rruen sumwy

(2) BsGaen eumy

(3) =pussl eumyy

(4) aplyger amy

£Giy Q&sr (& &0 UL L eub mer

epemesemied ghuLrg Grml erg ?
(1) Gur®Bs

(2) oymeneTU L(p&seT

(3) a&ré unssdld Crmi

4) ame Cpmi

o arseunssdlen Gumrg :
(1) wriuenmudler (ol & ir i e &y
2fafGg PS50 Gpud
wriruampuilen Clerarerarey @enmhEl
SU(pss0 HsflEEIh

O T U enm ullen Qerarearer ey
Slssipn fsNsdng

Wi L e udlen Qamrararer ayib
S(PssYL EDEDS

(2)

PT.O.



44, is a natural bio-indicator of
climate change and air pollution effects.
(1) Alga
@ Lichen
(3) Bryophytes
(4) Bacteria
45. Pick the odd one out :
(1)) Dodo
(2) Purple frog
(3) Indian giant squirrel
(4) Snow leopard
46. Bacteria are grouped under the Kingdom of
(1)) Monera (2) Protista
Fungi (4) Alga
47, Assertion :
Vaccines are prepared from the dead or
weakened microbes.
Reason :
When the vaccine is injected into the body of
a patient, the body produces antibiotics.
(1)y Assertion is correct but Reason is
wrong.
(2) Assertion and Reason are wrong.
(3) Assertion is correct and Reason
explains Assertion.
(4) Assertion is wrong but Reason is
correct.
IX-24 14

47.

st flos wrppsHeanyd
arpm wrsu@gdiear dlenaraysameryyd
dien&@d  @Ff @upes 2 u@f-
&L Ig WITELD.
(1) s
(2) ene@&sen
(3) GenyCGuirenui (Haer
4) ursefiur
QurmbsTs arens CoiblsBasea)b.
(1) GGCLw
(2) eagpT geuener
(3) @EHw yriss erfled
(4) uveleflpses

euans U Um g wedléd urdeflwursser
eranD) o asHen S @)L

GlummeTeran.

(1) Glorefiyr (2) yGrmigevrm
(3)  yepens (4)  <gpebsm
SDm] :

sHUyAsa @nibs Curar 60 wg)
ey el e tomE &0 L L [ et gy w9
sefleblmbay Huwirfléasiu (Bl ampen.
SNTE0OTD -

Cprureflsafien 2 dlé sELyfawn
DegsmnoGury =L ereag b
e r&Clsrassener 2 Hussl Claldng.

(1) s=mmy &, &ryewmid Seum|

(2) &smDp WLHHID STTETTD Seaug)

(3) smmm &fl. Cuweb sTrewId
samBlemen sllend@dng

(4) S=DDI Seuml. 24T Siyewd &l



48, What happens when you reduce intake of

caleium ?

@ osteoporosis

(2) thyroid

(3) muscular growth issue

(4) anemic

49, is also known as ‘diarthrosis’ | 49.

joint.

(1)  Fixed joint

(2) Slightly movable joint
(3) Freely movable joint

@ Synovial joint

50. The Red Data book contains data about :

@ endangered species

(2) deforestation
(3) afforestation

(4) reforestation

IX-24
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48.

prd sr@fwd el Gsrdaaams
Gopé&EwGung eeaen gHUBL ?

(1) <apevigGurGurGyrélen
@ eprmii®
(3) ses aueiEd Geopur(

4) @Erss Gsras

‘L d Grrélen’ apr({
erénmub SienpEsULIBHEDS.

(1) Henevwiren ep b
(2) &pm BpEFS Sl apL(
(3) BEré Smuw aprfH

4) SHCameiler ppl [

Aally prey UspspHa ST s
sreupenm GHl&@WD ?

(1) =Pyn & (1 eu mull gy @ren
o ullflemiusen

2) s Snfiy
(3) &T({H eueTiLiLy
(4) &sr® Sereueriiy

P.T.O.




o1,

(b)

(c)

(d)

52.

SOCIAL SCIENCE / sewpa ginlefwied

Match the following :

Treaty of
Aix-La-Chapelle

(i)  The First Anglo

Mysare War

The First
Carnatic War

Treaty of Paris (i)

The Third
Carnatic War

Treaty of
Srirangapatnam

(i)

The Third
Anglo Mysore
War

Treaty of
Madras

(iv)

@ (a)-~(ii), (b)-(iii), (c)-(iv), (d)-(i)

(2)
(3)
(4)

(@)-(i1), (o)-(iv), (c)-(i), (d)-(iii)
(@)-{iv), (b)-{iii), (c)-(id), (d)-(i)
(@)-(1), (b)-(ii), (c)-{iif), (d)-(iv)

Which commission recommended free and
compulsory education for all the Indian
children in the 6 - 14 years of age group ?

The Hunter Commission

(1)

(2) Dr. Radhakrishnan Commission

(3)
({4} ) The Kothari Commission

The Sargent Commission

IX-24
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51. Qumn@ssss.
(@) Spo-er-#0CGud () s
2L 6L &en <21 Fl Gai
@@ Guimr
(b) urflay (i) apsad
B L ENUg&Eens ETHITL_ &L
Gumf
(€ JSrisugen (ilf) eperpmid
o L eiLlig Seng ETHIL&L
Gumm
(d) wgrmen (iv) qpenpmb
oL iLllg Sens <%, S Gav il
a@t Gumm
(1) (a)-(id), (b-(ii), (c)-(iv), (d)-(i)
(2)  (a)(i), (b)-(iv), (c)-(i). (d)-(iii)
(3)  (a)-(iv), (b)-(ii), {c)-(i), (d)-(i)
(@) (@), (b)), (c)-(iii). (d)-(iv)
52. oTpgé EeellEmp 6 - 14 auLgdE Ll L

S@mss QhHus Gpboss e
Boeas wHpbd &L CTWE soelaw
uflBgieny Glelizg ?

(1) amewriit <y enawmwih

(2) L& B g (1w eig et eor
wenall & @ (p

(3)  eriblmem’ sdefldEp

(4) Gamgsril 2yeamuh




53. Find out the wrong pair :

(1)
(2)

@

(4)
54.

(1)
(2)

®

Raja Ram Mohan Roy - Sati

Ishwara Chandra Vidya Sagar -
Widow Remarriage Act

J.E.D. Bethune - The Sharda Act
Rajputs - Jauhar

The Indigo Revolt was led by whom ?

Mahatma Gandhi
Keshab Chandra Roy
Digambar Biswas and Bishnu Biswas

(4) Sardar Vallabhbhai Patel
55. Which among the following statements about
“Agnew's Turban” are true 7
(i) Tt was introduced by Military General
Agnew in June 1809,
(i) It resembles a European hat with a
badge of cross on it.
(i) Both Hindu and Muslim soldiers
accepted it.
(iv) This was considered as the immediate
cause for the Vellore revolt.
(1) (i) and (ii) only
(2) (i) and (iii) only
@ (ii) and (iv) only
(4) (i), (iii) and (iv) only
IX-24

53.

54.

55.
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Aurmbers Senamenis seim (s,

(1)
(2)

(3)
(4)

Blorgrrmb Gurseryml - &6

raveur shSlr eflFwnenan - aflgena
LDDILDERTEF FLL LD

LED. Quayen - srysm s

grEguUsSrisd - peusmr

@y Car (sieyfl) Heriddl wryme
seneoenwGuUnmn FLSsULLLE ?

(1)
(2)
(3)

(4)

tlﬂi&ﬁ.ﬁﬂg}

WETET SrES

Gasl spfy gmd

Heour deveuray whob Glevg)
e eumeny

FrSmT udbavuimis L Gl

gamalurens  ubblw

Epsaam smppsailer sranay sfwurarensu?

(i)

(i)

(i)

(iv)

(1)

(3)
(4)

Es :mOen 1809 b @i d
Eumapie sarud) ysaflyy,
eremuaTed iflapsiiLiBasil L g,
HAgieney Heanandgien  Falg L
wCrmullw Gsrid e aadlinbss!.
Gps wDhpW wevalb efriaer
Esemen gOmG Clememant.

Ba Geugni ss555@E o Lagd
ST EATLDTE .g;mm;b@@gﬁﬂ_

(i) hHoib (ii) WL HID

(ii) wHmb (i) W HID

(ii) wHmd (iv) W (Hwn

(i), (iii) D@D (iv) LLHD

P.T.0.



56. Steel was first manufactured by modern
methods at

(1) Jamshedpur  (2)

@ Kulti @)

Bombay

Salem

57. An important port in the Kingdom of
Golconda was

(1) Visakapattinam
(2) Nagapattinam
@ Masulipattinam

(4) Kalingapattinam

58. Assertion :

Indian handicrafts collapsed under the
colonial rule.

Reason ;

British made India as the producer of raw
materials and markets for their finished
products.

@ Assertion is correct, Reason is correct
explanation of Assertion

(2) Assertion is correct but Reason is not
the correct explanation of Assertion

(3) Both Assertion and Reason are correct

(4) Both Assertion and Reason are wrong

1X-24

56.

57.

58.

18

rarp  GLiPa pzen
wepwrs pelar pepulld @

SUTflEEuulLg).

(1) mmblagluyf (2) ubUML
(3) @y (4) Csab
GaraQaranLnr @rflar  apsdu

GEOPPSLD |

(1) eSlersliul gemb
(2) preluulgeand
(3) wEdlLU gD

(4) &ellf&lULigemD

SDm :

Epd ensellenanenisar (G ig aerflen
sreaflu féssdlda pelleyppant.

SMTeRTD :

ARl geaers @ifwureaa sag
ppauGurmear swurfllureryrseayb,
(WPig- 6y DD Gum L & @5sé&men

shensLITSaD S(mSlem.

(1) spm &M, sryewd spmnssren
efller&aLh

2) smpm =M, yard @=mPpeops
sTrewrid sflwurs alerasellevenc

(3) smpmb sryewrapd &

(4) smpmb sTrewTApd FeupTeTene



59. Event that occurs due to the failure of

61.

MONSsSoOons
(1)
@ Drought
(3)
(4)

Condensation

Evaporation

Pre{:ipil:aliﬂn

The process in which the water content in
the plant is released into the atmosphere in
the form of water vapour is called

(1)
(2)
@ Transpiration
(4)

Evaporation

Condensation
Precipitation

Statement (i) :
Sedimentary rocks consists of many layers.

Statement (ii) :

Sedimentary rocks are formed by the
sediments deposited at different points of
time.

@

(2)

Statements (i) and (ii) are correct and
Statement (ii) explains Statement (i).

Statements (i) and (ii) are correct but,
Statement (ii) does not explain

Statement (i).

(3) Statement (i) is correct but,
Statement (ii) is incorrect.

(4) Statement (ii) is correct but,
Statement (i) is incorrect.
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59.

60.

61.

umes wenlp GumiiiSer &myewriors

_ gpubBdnpg.
(1) el sEREss
(2) eupl#

(3) spelwnse

(4) wenplburifey

sreurhisefle 2drer B <y eflwrd
auafiwe g o @F Clae guib
QFwerEsd B (G1D.

(1)
)
(3)
(4)

B apefluirse

B smmmEs0

B o1 s8ks GeueflulGsd
wenpGuryiey

o (i) :

Liig. 6y L LT e o &er
i(hE@sanars Claram el
sapm (i) :

Uiga|l urenmast LaGaum sranisatad
2 (HeUrananaLl.

e Gaumy

(1)  subm (i) sbm (ii) &7 wHHD sabm
(ii) wenm s (i) &
sflwmren eSlardsib.

2) sapm (i), sapm (i) sf syearre
sapgy (i) peg smop (i) &6
sthurar eflendsin e,

(3) smbm (i) ofl pere smdm (ii)

Sy
smpm (i) #f serrd smpy (i)
Sy

(4)

P.T.O.



62.

Match the following :
(a) Judicial sector (i) Non-
Geographical
factor

() TV Telecasts (i) Raw materials

(d)

{c) Geographical (i) Quaternary
factor activity
Capital (iv) Quinary

activity

(1) @)-), (b)-(i), (c)-(idi), (d)-(iv)
(2)  (a)-(i), (b)-(i), (c)-(iv), (d)-()
() (a)-(v), (b)), (c)-(i), (d)-(1)

@ (a)-(iv). (b)-(ii), (c)-(ii), (d)-(i)

63.

Which Continent is known as “Continent of
Science” ?

(1) North America

@ Antarctica

(3) Europe
(4) Australia
64. From the following find out the incorrect pair :
(1) Isotherm - Equal temperature
@ Isohel - Equal atmospheric
pressure
(3) Isohyets - Equal amount of
rainfall
(4) Isocryme - Equal lowest mean
temperature for a
specified period
IX-24

62.

Qumrmsss.
(@) phszip @) yellufwe

=
ST ERTIEeT

(b) Gsrenewdsr & () ppad
geflurly QuimrgpLaser

(c)

(d)

63.

Lefilufl wied (iii) mremsmb Flene
&5 T [T 0T T S 6T Qewdur®

PLOGSETTLD (iv) mpamd Hene

(1)
(2)
(3)
(4)

Qewsur

(a)-(i), (b)-(ii), (c)-(iid), (d)-(iv)
(a)-(ii), (b)-(iii), (c)-(iv), (c)-(1)
(a)-(iv). (b)-(id), (c)-{ii), (d)-G}
(@)-(iv). (b)-(iti). (c)-(ii), (cd)-(i)

** i (il il wied SewT D"’ 6T 6m
SN P&SILU[HD s erg ?

(1)
(2)
(3)
(4)

aul Cwfssr
<SG L_ITTTlg T
gGrriiumr
=,enHCredlwim

Epsseamcubmier seupren [Elepareniis

sawrL_Mls.

(1) mCanr@srn - & Qeaulius
Cari

(2) mGertlsea - S0 STHD(PESS
Can(

(3) mGamenamiev - & WEPWIETELS
Gam(H

(4) mGsraganyin - @@ GHLELL
srasden srraf
&0 Gleuiiu
Heas Car



65.

66.

(a)

(b)

(c)

(d)

67.

The maps which are known as plans as ;

@ Cadastral maps

(2) Topographical maps

(3) Isoline maps

(4) Transport maps

Match the following :

Chemical wastes (i)  Organic
Solvents

Flammable wastes (i) Wastes resulting
from ordnance
manufacturing

Household (i) Salts

hazardous wastes

Explosives (iv) Automobile
batteries

() @), B)-6), (©)-Gv), (@)-)
(2)  (a)i), (b)-(iid), (c)-{ii), (d)-(iv)
(3) (@), ()-{i). (c)-(iv), (d)-(i)
(4)  (@)-(iv), (b)-(id), (c)-(iii), (d)-(i)

Service oriented sector is
(1)
(2)
@ Public Sector
(4)

Private Sector

Joint Sector

Co-operative Sector

IX-24
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65.

66.

(a) Ersmwars

(b)

()

(d)

67.

Serrensdr erenm P& sLURLD
YellUuL Biser 2 GLD.

(1) srefllyedly L fiser
(2)
(3)
(4)

SEOUILIL_Thi &6
&S0 emeysGCam_HU UL Riser

CUrEGeUTSEL UL RiseT

Clummags.

(i) sflw

s\l mar SenTLILIMET&eT

arefldle
S LD /& i 1g. 1L
s1fleyser

(i) wvenL&&even

2 pusd sflay
GETT SuUmusy (i) e lyser
&Lplaysar
Geaug LEummLser (iv) aursen

L\ &t & 0 R s i

(1)
(2)
(3)
(4)

(@)-(ii), (b)-(i), (c)-(iv). (d)-(ii)
(a)-(1), (b)-{ii), (c)-(if), (d)-{iv)
(a)-{ii), (B)-(i), (c)}-(iv), (d)-iii)
(@)-(iv), (b)~(i), (c)~{ii), (d)-(i)

Ceeneu Cprésib 2 eniwi gienp
(1)
(2)
(3)
(4)

ST Fienm
SLBF s
Gurgs e
sl Boas saop

PT.O.



68.

69.

70.

71.

Pick the odd one out.

Recent forms of money transactions are

(1) Credit card

@ Barter system

(3) Debit card
(4) Online banking

Statement (i) :

Savings are made to fulfill short term or
urgent requirements.

Statement (ii) :

Liquidity is high in investments.

(1) Statements (i) and (ii) are true
@ Statement (i) is true but (ii) is false

(3) Statement (i) is false but (i) is true

(4) Statements (i) and (ii) are false

An example for the joint sector companies
is:
(1) Irrigation projects in India

(2) The Reserve Bank of India

(3) Air India

Indian Synthetic Rubber Limited

Who promoted mixed economic system ?

Mahatma Gandhi
(2) Rajendra Prasad
(3) Dr. Radhakrishnan

Jawaharlal Nehru

(1)

IX-24

68.

69.

70.

71.

QuirmisTs gaeps Coiblsdasab.
uflorppsdbe vensder sbusdu
Glig QUIEISET

(1)
(2)
(3)
(4)

SL 6N BjL.enL
LT oTDml (penm
LM el
Asp Hena euriudl

samnm) (i) :

Gedluy sndu sTe g
sasgare Gseasmen BlapGapmi.
ﬁn.gbjgj (ii) :

gp@aﬁuq.da firenin semeniy s,

(1) s=xpmi (i) whoud (i) &

(2) &apmi (i) sfl yenred (i) seum

(3) ampmi (i) seup pema (i) &l

(4) sapmi (i) LODID () Seum

sl (s gop HpaansE@ss @
sTHESIEETLD
1) @sHwurdgerer Eroursas

A1 s
2) @ibHu fareu subdl
@) of @bSun
4) @ndwen Gawpens rOUT Hmeued

saiy GurmerTsrrdang s fEseum
Wi ?

(1)

&I HTHE

(2) QurGgpdly Slyers
(3)  LrsLT Grrsrdl meisamren
(4) meuamierd GHn



72. An Act which protects the children from

73,

74.

sexual offences is )
(1) Right to Education Act 2009

(@ POCSO Act 2012

(3) The Child Labour Act 1986
(4) The Juvenile Justice Act 2000

Pick the odd one out :
(1) v Give way.
2) @ No entry.
@ /A | Right hairpin bend.
(4) @ Speed Limit,

Which force is guarding sensitive
governmental buildings, the Delhi Metro and

Airport ?
(1) Central Reserve Police Force (CRPF)
@ Central Industrial Security Force (CISF)

(3) Special Service Bureau (SSB)
(4) Special Frontier Force (SFF)

The Chief Justice of High Court is appointed

(1) The Chief Minister
(2) The Prime Minister

72,

73.

74.

75.

L el wied & o & efl &6l (b &)
BphensseneaT LTEISTEGD s 1D
(1) ®evelll 2 Mennéd s L1b 2009

(2) CursGsr &b 2012

(3) Gwpes Cgmiflereart s Lb 1986
(4) Spnir $HF #b 2000

Qurmpsrs gaeps CsinesHiésaib.

@ | \/ |e <00
@ | @
O
@ | ()

TG LINGIETULL UenL (P&l Sammhis
sl Lmiuser, Gl Gl Grr whmwb
efloren Flenewwdans urssredng ?

Clda igynd Edame

euag) Claneaman, emél auenemey

Cauas sL_QULITL{H SieTay

(1) wsHw flereu sreud) uen (CRPF)

(2) wsHw Ggmfles urgsETOLY e
(CISF)

(3) &pluy Gremeu uewflwsd (SSB)

(4) &puy erévenaliym Lenl (SFF)

ewi Edweap sowew FHudaw
Blwioemb GediLeur :

(1) psewendsr

(2) Grsw wHSHM

(3)  <a@np

(4) GURWTES Seneveur

P.T.O.



MENTAL ABILITY TEST / wengdlmei Csitey

Direction (Q. No. 76, 77) auflgpenp : (efl. erem. 76, 77)

Find the next number in the following series. Geraumo Qarirsdfido 0S5 Q@mD
ramenams @l &

76. 5,9,16,31,60, 2 76. 5,9,16,31,60, 2
@ 119 2) 118 (1) 119 2) 118
(3) 132 (4) 131 (3) 132 (4) 131
77. 2,17,82,257, _2_ 77. 2,17,82,257, 2
(1) 575 (2) 325 1) 575 () 325
@ 626 (4) 730 (3) 626 (4) 730
Direction (Q. No. 78, 79) auflapenm : (efl. erefor. 78, 79)

Find the missing number/ term in the following. | efiulL ereir/erpdenss semBidiy.

78. (&) 40 2 78. (] 40 2
9 | 65| 4 9 | 65 | 4
7 |80 ? 7 | 80| ?
1) 8 9 (1) 8 @ 9
(3) 10 (4) 7 (3) 10 4 7
79. EXL, GVN, ITP, KRR, 7 79. EXL, GVN,ITP,KRR, 7 _
(1) MTT @ MPT (1) MTT (2) MPT
(3) NPT (4) NST (3) NPT (4) NST

IX-24 24



Direction (Q. No. 80, 81)

Find the odd one out.

80.

81.

82.

83.

9, 11, 14, 19, 26, 36, 50

Q§)aa

@) 9

(1) 50

3) 11
XW,URNI]LC

(1) R N

"

(2)

(4)

If the time in a clock is 2.05 p.m., then after
20 hours 55 minutes, the hour hand of the
clock points towards which number ?

@11

(3) 12

2) 8

4) 10

Identify the relationship of the given pair and
find the missing one.

C54R : E85Q : : G84L: _?
(1) 172K

(3) 71801

I1X-24

25

anflgpenp : (&fl. eremr. 80, 81)

Ceumil L gemenmd e ils.

80.

81.

82.

83.

9, 11, 14, 19, 26, 36, 50

(1) 50 2) 36
(3) 11 4 9
X, W,U,R,N,J,C

(1) R () N
(3) ] 4) C

susrrgdle Gprio GUuGurg 2.05 p.m.
eraflér 20 wenfl 55 Hifl_msda sfls5
susrrsdle Adlw aper erhE erenmanes
SLHb ?

(1) 11

@) 12

Yo @ran® & | q(phssEns
dlenL_ G o_erer GarLimSenen e ks,
flGulL eram | epsenss s
HligdsayLb.

C54R :EB5Q:: GB4L: 2?2

(1) I72K (2) 199K

(3) 1801 (4) J120M

P.T.O.



Af) 6

In a certain code language, ‘125" means “go
to school”, '146" means “study in school”,
‘135" means “run to school” and "8341" means
“do run in school”. What is the code for
“study” in that language ?

(2) 2

(3 3 4 1

85. In a certain code, CAN =36 and BED =22,
then CUT= ? ;
(1) 44 @ 88
(3) 66 (4) 22
B6. A is brother of B and C is sister of D and B is
son of C. How is C related to A ?
(1) Father
Mother
(3) Nephew
(4) Niece
87. If + means —, — means X, X means + and
+~ means <+, then 1Bx247+4-5=
(1) 19 (2) 20
(3)) 22 (4) 24
IX-24
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85.

B6.

87.

gm raflu ahllld wpepulle 125
eremlieng “go to school” eremed, 146
ereruieng “study in school”, eremeyin 135’
eremmlieng “run to school” eremeyd WHMILD
‘8341 eTetueng “do run in school” eremayld
Ghlgsra, “study” eremugen GHUE

1 6 2) 2

@) 3 (4) 1

g reflu OIS wpenpulies CAN =36
eramaytb BED =22 eremaib @ilgsmay CUT
eremugen @Hui
(1) 44

(3)

(2) 88

66 (4) 22

A erémueuii B-en sCasmgyen whmib
C erevueui D -e #GasrsM whmbd
B eremueui C -an wa&en erafled, C eremu
euit A-&(& erarten 2.mey ?

(1) =lumr
(2) <swWwr
(3) aCGangren/sGargfulen waen

4) sGangren/aGargfufen waer

+ erenueng — eraTe|ld, — eraTUMS X
ErENEYLDd, X eTeNLieng + eTemayld LoHMID
+ eTeUeng + eremeyld GEl&meirLme
18x2+4+7+4—5=

(1)

3)

19 20

(2)

22 (4) 24



88. A person is driving towards West. What
sequence of direction should he follow so that

now he is driving towards South ?

(1)

£

(3)
(4)

89. Arrange the following words in a meaningful

Left, Right, Right
Right, Right, Right
Left, Left, Left
Right, Left, Right

Sequence :

A.  Vegetable

B. Cooking

C. Market

D. Eating

E. Cutting

(1) CAEDB @ CAEBD
(3) ACBDE (4) BCDEA

90. Arrange the following words as per

dictionary,

A
B
C.
D
E

(1)

@ BEADC (4)

IX-24

Flute
Fetch
Fresh
Force
Flask
CEABD (2) ABCDE

EDCEBA

27

B8.

89.

90.

e Guoneg Sas Crrad Cedadpmi.
Qeras@md eTps #pnél apenpull enent
Qenupilenre sieui bspe Hes Crrad
Clsdbeuntt 7

(1) BlLs). auesg, auag

(2) euengy), euegl Guag)

G) @ra @ra. @es

(4) g, Qg oy

Qemaumd aunmganssamer QummerdlBs)
auflenaliLiBisss.

A.  Vegetable

B. Cooking

C. Market

D. Eating

E. Cutting

(1) CAEDB (2) CAEBD
(3) ACBDE (4) BCDEA

Memaumh eunifenssener gyl
sisrrdl aflenslia suflemsliubisgs.

A. Flute
B Fetch
C. Fresh
D Force
E. Flask
(1) CEABD (2) ABCDE
(3) BEADC (4) EDCBA
PTO.



91. If the day after yesterday will be Saturday,
when will Thursday be 7

(1) Yesterday
(2) Tomorrow

(3) Day after tomorrow

@ Day before yesterday

92. Find the correct mirror image of :

ES5TRE6K3
(1Y exanATea (2) €XM9Hls3
(3) EPlBexka (4 eXaRT23
Direction (Q. No. 93, 94)
Find the odd one out ;
X|o||—=|X[[1]|l]]|—=
Bl =[o][o]x][<]|x

94. _j: “(h
@ (2) 3) (4)

95. Which of the following words cannot be
formed from the letters of the word
“INTERNATIONAL" ?

LATTE
INTERNAL

(1) NATION (2)

;%b NATURE (4)

IX-24 28

91. Gpperpw wmimrer safisdlpan erafla,
eflwripddlipens eTiGuUrg eumd ?

(1) Coom

(2) mrener

(3) ETenaT WmiBTET

(4) Copespw apendlamnd

92. E5TREK3}
remLIGeEn Searemmig. 1S1DLILD |
(1) exsATE23 (2)
(3) ERLEEK3

EX9HLGE3
(4) EMNBRTE3

afigpenp : (efl. erewr. 93, 94)
Caupul_ L genenpd HearrL_ls.

@]
T
Q| =
O |—=

!

o

93. T \Ir

w | L] ¥ e

(1) {2) (3) (4)

95. (Sdveumeueneubmier eTHS uUTTHenseni
“INTERNATIONAL" erenp eunigens
Wgueter er(psssmard Caram(®
2 (HeUTES (PigITE 7
(1) NATION (2)

(3) NATURE (4)

LATTE
INTERNAL



96. Which two faces lie opposite to each other, if
the given paper is folded to form a cube ?

[A]
BIC|D|E
F
(1) AandB 2) CandD
Fand E

) @ Cand E 4)

Direction (Q. No. 97, 98)

Select the related figure from the given
alternatives :

97 = [ PP
-
m a o @
O ® "
9. | A& [} O i
x A 8]
T - O
O O -
(1) (2) (3)

1X-24

96. Qasr@&slul @erer srevar SaEs g

aulg efled oig & &b Gurg 6rfh s
Bmupsiusdr erdlQpdlyms enouyb ?
[A]
B|C|D|E
el

(1) A wpmd B (2) Cuopmb D

3) CuhmbE  (4) Fuopgbd E
auflogpenp : (efll. eremr. 97, 98)
QarP&siul Hdrar CAsreu9ne

Ggriiyeniw uLgans Gairey Cals,

97, :

X

(1) (2) (3) (4)

oa | & Bl O fs3] = 2] 7

(1) 2 (3) (4)

P.T.0.



99, Number of triangles in the given figure is | 99. QarHsésuul (Hearar uLg H eyerer

ey ap& Ca et i & afl e &7 GtoT Guutl & 60 &
(1 7 (2) ¢ m 7 (2) 9
@ 1 ’ 13 3 11 @ 13
100, If 5%4 =400, 4¢3 =144 then 645=7 100. 5+4=400 wpmid 4+3=144 eradfldy 6#5="7
(1) 121 (2) 1331 (1) 121 (2) 1331
@ 900 (4) 3625 (3) 900 (4) 3625
~00Do- -00Do-

1X-24 30



FOR ROUGH USE (Not for evaluation) /
Sieysrgid LEH (PN 1yhes 2L ULt F6oe)

IX-24 a PT.C.



FOR ROUGH USE (Not for evaluation) /
Sioysramd UGS (LHII 1GHE 2L L L F606)

IX-24 32



